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A backup of 12 GB of data is reduced by a deduplication algorithm to 2 GB of dat
a. What is the deduplication ratio?

Response:
A.1:6
B.1:12
C.12:1
D.6:1
Answer: D
Which is a data protection service?
Response:
A. Infrastructure as a service
B. Replication as a service
C. Container as a service
D. Platform as a service
Answer: B
What are the three pillars of data security and management?
Response:
A. Security, Confidentiality, and Integrity
B. High availability, Integrity, and Compliance
C. Integrity, Governance, and Compliance
D. Confidentiality, Integrity, and Availability
Answer: D
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What are three types of backups?
Response:

A. Image, Object, and Block
B. Block, File, and Object
C. NDMP, Image, and Object
D. File, Block, and Image

Which is an example of an informational alert?
Response:

A. Soft media error

B. Orchestration failure

C. Creation of a storage pool

D. The file system is becoming full

Answer: D

Answer: C

A cloud service provider only manages data replication and IT infrastructure at disaster recovery sites.

Which backup service type is being implemented?

Response:

A. Remote Backup Service

B. Cloud to Cloud Backup

C. Replicated Backup Service
D. Local Backup Service

Which backup topology has the least impact on the LAN?

Response:

A. Cloud-based

Answer: C
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B. LAN-based
C. Direct-attached
D. NAS-based

Answer: C

What is a function of an API?
Response:

A. Provides storage migration capabilities

B. Schedules backup and recovery for an application
C. Can be accessed only by CLI

D. Enables communication with an application

Answer: D

What is a disadvantage of source-based deduplication?
Response:

A. Requires more network bandwidth to send data across LAN or WAN during the backup

B. CPU cycles may impact application performance

C. High network load since the client checks all segments on the deduplication server device
D. Increases CPU utilization in the backup appliance

Answer: B

A storage administrator wants to replicate the data to a remote site without impacting application
response time. Which replication mode can achieve this?
Response:

A. Clone

B. Pointer-based
C. Asynchronous
D. Synchronous
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Answer: C
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